## State of New Hampshire Department of Transportation

Project: KEENE - SWANZEY X-A000(458)

10309P

County and Code: CHESHIRE COUNTY 005

**Date Bids Open:** October 29, 2015

Scope of Work: CONSTRUCTION OF MULTI-USE TRAIL BRIDGE

Location: CITY OF KEENE

Completion Date: October 28, 2016

A CPM CONSTRUCTORS (B001)

PO BOX B FREEPORT, ME 04032 \$1,536,742.75

B NEIL H. DANIELS, INC.

4409 ROUTE 5 AXCUTNEY, VT 05030 \$1,712,629.00

C COLD RIVER BRIDGES LLC

PO BOX 1076 10 LANBRO LANE WALPOLE NH 03608 \$1,836,994.00

D R.M. PIPER, INC.

PO BOX 490, PLYMOUTH, NH 03264 \$1,882,908.00

E RENAUD BROS CONSTRUCTION INC

283 FORT BRIDGMAN ROAD VERNON VT 05354 \$1,984,827.15

F T BUCK CONSTRUCTION INC

249 MERROW ROAD AUBURN ME 04210 \$2,222,290.00

Item				A			В	C		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
201.1	CLEARING AND GRUBBING (F)	Α	1.60	\$10,000.00	\$16,000.00	\$20,000.00	\$32,000.00	\$10,000.00	\$16,000.00	
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	768.00	\$5.00	\$3,840.00	\$10.00	\$7,680.00	\$5.00	\$3,840.00	
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	111.00	\$5.00	\$555.00	\$20.00	\$2,220.00	\$10.00	\$1,110.00	
203.1	COMMON EXCAVATION	CY	786.00	\$12.00	\$9,432.00	\$10.00	\$7,860.00	\$15.00	\$11,790.00	
203.6	EMBANKMENT-IN-PLACE (F)	CY	9,284.00	\$17.00	\$157,828.00	\$20.00	\$185,680.00	\$18.00	\$167,112.00	
203.7	REHANDLING SURCHARGE MATERIAL	CY	292.00	\$10.00	\$2,920.00	\$15.00	\$4,380.00	\$18.00	\$5,256.00	
203.71	REHANDLING EXCAVATED MATERIAL	CY	165.00	\$10.00	\$1,650.00	\$10.00	\$1,650.00	\$30.00	\$4,950.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	60.00	\$50.00	\$3,000.00	\$50.00	\$3,000.00	\$25.00	\$1,500.00	
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	231.00	\$35.00	\$8,085.00	\$50.00	\$11,550.00	\$55.00	\$12,705.00	
210.1	SETTLEMENT PLATFORMS	EA	3.00	\$2,100.00	\$6,300.00	\$5,000.00	\$15,000.00	\$1,000.00	\$3,000.00	
304.754	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	97.00	\$90.00	\$8,730.00	\$50.00	\$4,850.00	\$75.00	\$7,275.00	
504.1	COMMON BRIDGE EXCAVATION (F)	CY	170.00	\$20.00	\$3,400.00	\$50.00	\$8,500.00	\$75.00	\$12,750.00	
508	STRUCTURAL FILL	CY	52.00	\$40.00	\$2,080.00	\$75.00	\$3,900.00	\$100.00	\$5,200.00	
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	157,680.00	\$0.92	\$145,065.60	\$0.70	\$110,376.00	\$0.65	\$102,492.00	
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	12.00	\$250.00	\$3,000.00	\$365.00	\$4,380.00	\$350.00	\$4,200.00	
510.9	PILE SPLICES	EA	30.00	\$200.00	\$6,000.00	\$105.00	\$3,150.00	\$100.00	\$3,000.00	
520.03	CONCRETE CLASS AA, APPROACH SLABS (F)	CY	5.00	\$550.00	\$2,750.00	\$600.00	\$3,000.00	\$1,000.00	\$5,000.00	
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	129.00	\$600.00	\$77,400.00	\$600.00	\$77,400.00	\$1,000.00	\$129,000.00	
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	77.00	\$500.00	\$38,500.00	\$300.00	\$23,100.00	\$1,000.00	\$77,000.00	

Item					A		В	C		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	16.00	\$85.00	\$1,360.00	\$75.00	\$1,200.00	\$100.00	\$1,600.00	
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	11.00	\$50.00	\$550.00	\$35.00	\$385.00	\$100.00	\$1,100.00	
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	30.00	\$20.00	\$600.00	\$10.00	\$300.00	\$10.00	\$300.00	
544	REINFORCING STEEL (F)	LB	8,915.00	\$1.25	\$11,143.75	\$1.00	\$8,915.00	\$1.50	\$13,372.50	
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	17,218.00	\$1.30	\$22,383.40	\$1.00	\$17,218.00	\$1.75	\$30,131.50	
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	35.00	\$10.00	\$350.00	\$5.00	\$175.00	\$10.00	\$350.00	
547	SHEAR CONNECTORS (F)	EA	144.00	\$10.00	\$1,440.00	\$10.00	\$1,440.00	\$15.00	\$2,160.00	
562.1	SILICONE JOINT SEALANT (F)	LF	40.00	\$5.00	\$200.00	\$10.00	\$400.00	\$15.00	\$600.00	
585.3	STONE FILL, CLASS C	CY	4.00	\$100.00	\$400.00	\$75.00	\$300.00	\$250.00	\$1,000.00	
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	20.00	\$10.00	\$200.00	\$10.00	\$200.00	\$20.00	\$400.00	
595	PREFABRICATED PEDESTRIAN BRIDGE SUPERSTUCTURE	U	1.00	\$600,000.00	\$600,000.00	\$815,000.00	\$815,000.00	\$880,000.00	\$880,000.00	
603.36112	12" ALUMINIZED STEEL END SECTION	EA	2.00	\$175.00	\$350.00	\$200.00	\$400.00	\$500.00	\$1,000.00	
603.44012	12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE	LF	80.00	\$65.00	\$5,200.00	\$25.00	\$2,000.00	\$35.00	\$2,800.00	
604.242	DROP INLETS TYPE D-B	U	4.00	\$2,000.00	\$8,000.00	\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00	
607.240	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 4 FT HIGH	LF	660.00	\$20.00	\$13,200.00	\$12.00	\$7,920.00	\$25.00	\$16,500.00	
607.4240	POST ASSEMBLIES FOR CHAIN LINK FENCE, 4 FT HIGH	EA	8.00	\$160.00	\$1,280.00	\$200.00	\$1,600.00	\$500.00	\$4,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
618.7	FLAGGERS	HR	2,500.00	\$21.00	\$52,500.00	\$10.00	\$25,000.00	\$20.00	\$50,000.00	

Item				A		В		C	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$7,500.00	\$15,000.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,700.00	\$4.50	\$7,650.00	\$5.00	\$8,500.00	\$2.00	\$3,400.00
645.531	SILT FENCE	LF	1,700.00	\$3.00	\$5,100.00	\$5.00	\$8,500.00	\$2.00	\$3,400.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	100.00	\$85.00	\$8,500.00	\$50.00	\$5,000.00	\$75.00	\$7,500.00
646.4	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	Α	1.60	\$15,000.00	\$24,000.00	\$15,000.00	\$24,000.00	\$2,500.00	\$4,000.00
670.42	CONCRETE FILLED BOLLARD	EA	4.00	\$700.00	\$2,800.00	\$1,000.00	\$4,000.00	\$800.00	\$3,200.00
692	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$91,000.00	\$91,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00
698.14	FIELD OFFICE TYPE D	MON	12.00	\$500.00	\$6,000.00	\$1,500.00	\$18,000.00	\$1,500.00	\$18,000.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
					\$1,536,742.75		\$1,712,629.00	\$	31,836,994.00

Item					D			F		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	_ Total	Unit Price	Total	
201.1	CLEARING AND GRUBBING (F)	Α	1.60	\$10,000.00	\$16,000.00	\$2,500.00	\$4,000.00	\$10,000.00	\$16,000.00	
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	768.00	\$3.00	\$2,304.00	\$4.00	\$3,072.00	\$4.00	\$3,072.00	
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	111.00	\$3.00	\$333.00	\$5.00	\$555.00	\$8.00	\$888.00	
203.1	COMMON EXCAVATION	CY	786.00	\$8.00	\$6,288.00	\$20.00	\$15,720.00	\$12.00	\$9,432.00	
203.6	EMBANKMENT-IN-PLACE (F)	CY	9,284.00	\$15.00	\$139,260.00	\$15.00	\$139,260.00	\$20.00	\$185,680.00	
203.7	REHANDLING SURCHARGE MATERIAL	CY	292.00	\$8.00	\$2,336.00	\$15.00	\$4,380.00	\$16.00	\$4,672.00	
203.71	REHANDLING EXCAVATED MATERIAL	CY	165.00	\$8.00	\$1,320.00	\$15.00	\$2,475.00	\$32.00	\$5,280.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	60.00	\$20.00	\$1,200.00	\$25.00	\$1,500.00	\$40.00	\$2,400.00	
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	231.00	\$40.00	\$9,240.00	\$50.00	\$11,550.00	\$50.00	\$11,550.00	
210.1	SETTLEMENT PLATFORMS	EA	3.00	\$1,600.00	\$4,800.00	\$20,000.00	\$60,000.00	\$3,000.00	\$9,000.00	
304.754	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	97.00	\$45.00	\$4,365.00	\$50.00	\$4,850.00	\$125.00	\$12,125.00	
504.1	COMMON BRIDGE EXCAVATION (F)	CY	170.00	\$12.00	\$2,040.00	\$20.00	\$3,400.00	\$25.00	\$4,250.00	
508	STRUCTURAL FILL	CY	52.00	\$50.00	\$2,600.00	\$50.00	\$2,600.00	\$100.00	\$5,200.00	
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$47,500.00	\$47,500.00	\$75,000.00	\$75,000.00	\$107,000.00	\$107,000.00	
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	157,680.00	\$0.55	\$86,724.00	\$0.78	\$122,990.40	\$0.64	\$100,915.20	
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	12.00	\$170.00	\$2,040.00	\$150.00	\$1,800.00	\$350.00	\$4,200.00	
510.9	PILE SPLICES	EA	30.00	\$320.00	\$9,600.00	\$175.00	\$5,250.00	\$100.00	\$3,000.00	
520.03	CONCRETE CLASS AA, APPROACH SLABS (F)	CY	5.00	\$500.00	\$2,500.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	129.00	\$850.00	\$109,650.00	\$950.00	\$122,550.00	\$850.00	\$109,650.00	
520.213	CONCRETE CLASS B, FOOTINGS (ON SOIL) (F)	CY	77.00	\$400.00	\$30,800.00	\$1,000.00	\$77,000.00	\$650.00	\$50,050.00	

Item					D		E		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	16.00	\$100.00	\$1,600.00	\$50.00	\$800.00	\$75.00	\$1,200.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	11.00	\$25.00	\$275.00	\$37.00	\$407.00	\$75.00	\$825.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	30.00	\$10.00	\$300.00	\$65.00	\$1,950.00	\$25.00	\$750.00
544	REINFORCING STEEL (F)	LB	8,915.00	\$1.10	\$9,806.50	\$1.25	\$11,143.75	\$1.00	\$8,915.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	17,218.00	\$1.25	\$21,522.50	\$1.50	\$25,827.00	\$1.15	\$19,800.70
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	35.00	\$10.00	\$350.00	\$9.00	\$315.00	\$9.00	\$315.00
547	SHEAR CONNECTORS (F)	EA	144.00	\$6.00	\$864.00	\$8.00	\$1,152.00	\$8.00	\$1,152.00
562.1	SILICONE JOINT SEALANT (F)	LF	40.00	\$10.00	\$400.00	\$120.00	\$4,800.00	\$15.00	\$600.00
585.3	STONE FILL, CLASS C	CY	4.00	\$50.00	\$200.00	\$50.00	\$200.00	\$150.00	\$600.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	20.00	\$2.50	\$50.00	\$5.00	\$100.00	\$5.00	\$100.00
595	PREFABRICATED PEDESTRIAN BRIDGE SUPERSTUCTURE	U	1.00	\$977,500.00	\$977,500.00	\$924,680.00	\$924,680.00	\$1,100,000.00 \$	51,100,000.00
603.36112	12" ALUMINIZED STEEL END SECTION	EA	2.00	\$300.00	\$600.00	\$150.00	\$300.00	\$250.00	\$500.00
603.44012	12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE	LF	80.00	\$30.00	\$2,400.00	\$65.00	\$5,200.00	\$75.00	\$6,000.00
604.242	DROP INLETS TYPE D-B	U	4.00	\$1,200.00	\$4,800.00	\$3,500.00	\$14,000.00	\$1,600.00	\$6,400.00
607.240	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 4 FT HIGH	LF	660.00	\$25.00	\$16,500.00	\$20.00	\$13,200.00	\$24.00	\$15,840.00
607.4240	POST ASSEMBLIES FOR CHAIN LINK FENCE, 4 FT HIGH	EA	8.00	\$460.00	\$3,680.00	\$100.00	\$800.00	\$500.00	\$4,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
618.7	FLAGGERS	HR	2,500.00	\$21.00	\$52,500.00	\$15.00	\$37,500.00	\$20.00	\$50,000.00

Item					D				F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$16,000.00	\$16,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	\$9,000.00	\$18,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,700.00	\$6.00	\$10,200.00	\$5.00	\$8,500.00	\$6.00	\$10,200.00
645.531	SILT FENCE	LF	1,700.00	\$3.00	\$5,100.00	\$5.00	\$8,500.00	\$3.00	\$5,100.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	100.00	\$80.00	\$8,000.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00
646.4	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	Α	1.60	\$4,500.00	\$7,200.00	\$6,250.00	\$10,000.00	\$20,000.00	\$32,000.00
670.42	CONCRETE FILLED BOLLARD	EA	4.00	\$490.00	\$1,960.00	\$1,000.00	\$4,000.00	\$1,800.00	\$7,200.00
692	MOBILIZATION	U	1.00	\$180,000.00	\$180,000.00	\$125,000.00	\$125,000.00	\$208,728.10	\$208,728.10
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
698.14	FIELD OFFICE TYPE D	MON	12.00	\$1,000.00	\$12,000.00	\$1,000.00	\$12,000.00	\$600.00	\$7,200.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
					\$1,882,908.00		\$1,984,827.15	S	\$2,222,290.00

			Α-	PS&E = NHDOT Cost Estimate				
Item				,	A-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
201.1	CLEARING AND GRUBBING (F)	Α	1.60	\$10,000.00	\$16,000.00	\$15,000.00	\$24,000.00	(\$8,000.00)
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	768.00	\$5.00	\$3,840.00	\$20.00	\$15,360.00	(\$11,520.00)
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	111.00	\$5.00	\$555.00	\$5.00	\$555.00	\$0.00
203.1	COMMON EXCAVATION	CY	786.00	\$12.00	\$9,432.00	\$10.00	\$7,860.00	\$1,572.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	9,284.00	\$17.00	\$157,828.00	\$10.00	\$92,840.00	\$64,988.00
203.7	REHANDLING SURCHARGE MATERIAL	CY	292.00	\$10.00	\$2,920.00	\$5.00	\$1,460.00	\$1,460.00
203.71	REHANDLING EXCAVATED MATERIAL	CY	165.00	\$10.00	\$1,650.00	\$25.00	\$4,125.00	(\$2,475.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	60.00	\$50.00	\$3,000.00	\$75.00	\$4,500.00	(\$1,500.00)
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	231.00	\$35.00	\$8,085.00	\$50.00	\$11,550.00	(\$3,465.00)
210.1	SETTLEMENT PLATFORMS	EA	3.00	\$2,100.00	\$6,300.00	\$600.00	\$1,800.00	\$4,500.00
304.754	4" STONE DUST WEARING SURFACE FOR TRAILS	CY	97.00	\$90.00	\$8,730.00	\$40.00	\$3,880.00	\$4,850.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	170.00	\$20.00	\$3,400.00	\$50.00	\$8,500.00	(\$5,100.00)
508	STRUCTURAL FILL	CY	52.00	\$40.00	\$2,080.00	\$50.00	\$2,600.00	(\$520.00)
510.1	PILE DRIVING EQUIPMENT	U	1.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00	(\$25,000.00)
510.61	FURNISHING & DRIVING STEEL BEARING PILES	LB	157,680.00	\$0.92	\$145,065.60	\$0.80	\$126,144.00	\$18,921.60
510.65	DRIVING-POINTS FOR STEEL BEARING PILES	EA	12.00	\$250.00	\$3,000.00	\$200.00	\$2,400.00	\$600.00
510.9	PILE SPLICES	EA	30.00	\$200.00	\$6,000.00	\$100.00	\$3,000.00	\$3,000.00
520.03	CONCRETE CLASS AA, APPROACH SLABS (F)	CY	5.00	\$550.00	\$2,750.00	\$500.00	\$2,500.00	\$250.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	CY	129.00	\$600.00	\$77,400.00	\$750.00	\$96,750.00	(\$19,350.00)

\$500.00

\$38,500.00

\$300.00

\$23,100.00

\$15,400.00

520.213

CONCRETE CLASS B,

FOOTINGS (ON SOIL) (F)

CY

77.00

			Α-	PS&E Con	nparison	PS&E = NHDOT Cost Estimate			
Item				F	A-Bidder		PS&E	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	16.00	\$85.00	\$1,360.00	\$80.00	\$1,280.00	\$80.00	
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	11.00	\$50.00	\$550.00	\$50.00	\$550.00	\$0.00	
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	30.00	\$20.00	\$600.00	\$10.00	\$300.00	\$300.00	
544	REINFORCING STEEL (F)	LB	8,915.00	\$1.25	\$11,143.75	\$1.50	\$13,372.50	(\$2,228.75)	
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	17,218.00	\$1.30	\$22,383.40	\$1.75	\$30,131.50	(\$7,748.10)	
544.7	SYNTHETIC FIBER REINFORCEMENT (F)	LB	35.00	\$10.00	\$350.00	\$10.00	\$350.00	\$0.00	
547	SHEAR CONNECTORS (F)	EA	144.00	\$10.00	\$1,440.00	\$10.00	\$1,440.00	\$0.00	
562.1	SILICONE JOINT SEALANT (F)	LF	40.00	\$5.00	\$200.00	\$25.00	\$1,000.00	(\$800.00)	
585.3	STONE FILL, CLASS C	CY	4.00	\$100.00	\$400.00	\$50.00	\$200.00	\$200.00	
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	20.00	\$10.00	\$200.00	\$4.00	\$80.00	\$120.00	
595	PREFABRICATED PEDESTRIAN BRIDGE SUPERSTUCTURE	U	1.00	\$600,000.00	\$600,000.00	\$1,000,000.00	\$1,000,000.00	(\$400,000.00)	
603.36112	12" ALUMINIZED STEEL END SECTION	EA	2.00	\$175.00	\$350.00	\$600.00	\$1,200.00	(\$850.00)	
603.44012	12" CORR. POLYETHYLENE PIPE FOR SLOPE DRAINAGE	LF	80.00	\$65.00	\$5,200.00	\$28.00	\$2,240.00	\$2,960.00	
604.242	DROP INLETS TYPE D-B	U	4.00	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$0.00	
607.240	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 4 FT HIGH	LF	660.00	\$20.00	\$13,200.00	\$60.00	\$39,600.00	(\$26,400.00)	
607.4240	POST ASSEMBLIES FOR CHAIN LINK FENCE, 4 FT HIGH	EA	8.00	\$160.00	\$1,280.00	\$100.00	\$800.00	\$480.00	
618.61	UNIFORMED OFFICERS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	

WITH VEHICLE

			<b>A</b> -	PS	PS&E = NHDOT Cost Estimate			
Item					∖-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
618.7	FLAGGERS	HR	2,500.00	\$21.00	\$52,500.00	\$25.00	\$62,500.00	(\$10,000.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$5,000.00	\$5,000.00	\$22,000.00	\$22,000.00	(\$17,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$7,500.00	\$15,000.00	\$5,000.00	\$10,000.00	\$5,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,700.00	\$4.50	\$7,650.00	\$7.00	\$11,900.00	(\$4,250.00)
645.531	SILT FENCE	LF	1,700.00	\$3.00	\$5,100.00	\$5.00	\$8,500.00	(\$3,400.00)
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	100.00	\$85.00	\$8,500.00	\$80.00	\$8,000.00	\$500.00
646.4	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	Α	1.60	\$15,000.00	\$24,000.00	\$5,000.00	\$8,000.00	\$16,000.00
670.42	CONCRETE FILLED BOLLARD	EA	4.00	\$700.00	\$2,800.00	\$500.00	\$2,000.00	\$800.00
692	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	(\$50,000.00)
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$0.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$0.00
698.14	FIELD OFFICE TYPE D	MON	12.00	\$500.00	\$6,000.00	\$1,250.00	\$15,000.00	(\$9,000.00)
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

\$1.00

\$20,000.00

\$1,536,742.75

\$20,000.00

\$2,003,368.00

\$1.00

\$0.00

(\$466,625.25)

1010.15

**FUEL ADJUSTMENT** 

\$

20,000.00